Question Paper Title : PRELIM-3_P1

Date of Exam : 18-05-2018 09:30 AM

1 9.75+2.5+3.25-(9.25-550-4.75)=

What is 9.75 + 2.5 + 3.25-(9.25-5.50-4.75) ?

A.16.35

A.16.35

B.16.25

B.16.25

C.16.85

C.16.85

D.16.5

D.16.5

Answer: D.16.5

D.16.5

2 30 AT 80% - 16/20 + 2.25 =

80% of 30 - 16/20 + 2.25 =
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A.25.45

A.25.45

B.25.95

B.25.95

C.25.2

C.25.2

D.25.85

D.25.85

Answer: A.25.45

A.25.45

3 IoiE PAR UG Bid

Rajendra Kumar was a famous

A TSTHTRUf

A.Politician

B. 3y
B.Actor

C.odIPR
C.Artist

D.1ddh
D.Singer

Answer: B. 3T
B.Actor
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Answer:

Answer:

IHM diee URNg 3

Usain Bolt is a famous

ARG

A.boxer

B.fhax

B.crickter

C.YTdUIRT
C.sprinter

BRUEH
D.a scientist

C.YTaUIRT
C.sprinter

3 3T URTG 3Ted

Anu Aga is a famous

A Higel Iolh

A.Businesswoman

B.HIg

B.Sportsman

C.hdIPR
C.Artist

DI
D.Singer

A HgdT SeESIdh

A.Businesswoman
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6 TAICT JelT HIUTTe] TRl ¥ i aradl. SaIgua! 9l "Udh Y " 318..
1 100 3% AT ST YU d HISIdHT bt AT 4 N SbTal Hioidi?

A child reads out all digits of any number. For example Hundred is "One Zero Zero". He
once speaks out all the digits of numbers from 1 to 100. How many times does he come
across the digit '4'?

A10
A.10

B.19
B.19

C.20
C.20

D.21
D.21

Answer: C.20
C.20

7 T HI0T "R et I 3BT g gART" 3T MU TG 3TE ?

Who among the following wrote the song “Sare Jahan Se Aachha Hindustan Hamara

A UG fofsra
A.Ram Prasad Bismil

B.&f 3Rfdal gy

B.Sri Aurobindo Ghosh

C.HIg G 3aET1d
C.Mohammed Igbal

DANINIRN S LR
D.Lala Lajpat Rai

Answer: C.HIgHE SadTd
C.Mohammed Igbal
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8 33 YaUiuCHg Jaid qdid Faid oiRd Javiucdh i HHIS T [dshH DI AamaR g7

Who holds the all-time records for Olympic gold medals with 23 gold medals?

ATTOhd e
A.Michael Phelps

B.3U §ice
B.Usain Bolt

c. e S1aH!

C.Nadia Comaneci

D. &1 qad

D. Carl Lewis

Answer: A HRIGd el
A.Michael Phelps

9 T YRS TR e Fard Hid] Yari! farmargded Hu-t Hivrd 311g ?

Which is India's largest domestic airline in terms of number of passangers flown?

ASIC T3RAS
A.Jet Airways

B.TM W3R
B.Go Air

C. 13y Sie
C.Spice Jet

D.3f&m

D.Indigo

Answer:  D.3fST

D.Indigo

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

10 HIorT qf, AU g Areqdm, Sfaumra sitidd el TaRHAT aRETIR
YHIRId BRI 0T Yidsardia GurRorEn v Burerd i fidl 3idrg UHbiiRid
HIUTT TRG HRUITHTST SHTell Bieil?

In which year, through a Constitutional amendment, a provision was made to publish
authentic Hindi translation of the Constitution as on date and also a provision to publish
authentic Hindi translation of future amendments?

A.1950
A.1950

B.1960
B.1960

C.1976
C.1976

D.1987
D.1987

Answer: D.1987
D.1987

11 90 =AT120% - 5/20 + 1.25 =

20% of 90 -5/20 +1.25=__

A.19.5

A19.5

B.19

B.19

C.18.75

C.18.75
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Answer:

12

Answer:

13

D.19.4

D.19.4

B.19

B.19

HIUTAT ST HRATHYA Faid drat fafd gid 2

Which product category is India's largest export?

A.LT. (Trfet o) Sfor HitedsR
A.l.T. and Software

B.3{ye

B.Pharmaceuticals

C.3{FAUTT
C.Food grains

D.Xd 30T STYWUI (SAT)

D.Gems and Jewellery

D.Xd 3O STYYU! (SA)

D.Gems and Jewellery

T BB BT AT ASTh T Uef HTg?

National conference is a political party in which state?

A ST
A.Odisha

B.3™HMH
B.Assam
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c.fagr

C.Bihar
D. 518 31107 HIRAR

D.Jammu & Kashmir

Answer: D.ST8 31107 HIRAR

D.Jammu & Kashmir

14 WU gaid HIST TaTg BT 318?

Which is the largest among the following options?

A. 350 @ 20%
A.20% of 350

B.1100 <T 1/4
B.1/4 of 1100

C.0.35 * 900
C.0.35 * 900

D.1400 dT 2/5
D.2/5 of 1400

Answer: D.1400 dT 2/5
D.2/5 of 1400

15 a1 1dt IsuwET Sied

Jayant Sinha is the Minister of State for

A YT SHedru
A.Animal Welfare

B.HIfedl TRl

B.Information Broadcasting

C AR faqM argdd
C.Civil Aviation
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Answer:

16

Answer:

17

D
D.Railways

C.ATRY {dHM g
C.Civil Aviation

ISIUTd 31T HTa! Y1 faur aRued Rgdd o= qdhdrd, i RIEESEDHE]

fa= I fdhar ATaeIRNG 3y 3RY el
T) fasm

o) e

) dar

) YehR IBdcs

The Governor of a state may appoint some members to the Vidhana Parishad who may
have special knowledge or practical experience in respect of

A) Science
B) Literature

C) Art

D) Cooperative Movement

AT 31T &
A.Aand B

B. & 3for .t
B.Band C

C.T, &t affor <t
C.A,Band C

D.G, o, I 3{1for1 St
D.A B, CandD

D.Q, &, It 3Mfor &t
D.A,B,CandD

751 10% - 20/25 + 0.5 =

10% of 75 - 20/25 + 0.5 =

http://www.adda247.com/mr |

Adda247 wWrat App

https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

AT.7

AT.7

B.6.95

B.6.95

C.76

C.7.6

D.7.2

D.7.2

Answer: D.7.2

D.7.2

18 T JAHT gFHIaR e SHTUH IoT DR Dlel [AIRIF IRIIN T A igarare! Hrd
g riddTgul SrHTaTer Feled B .

Under the restriction of the Fundament Right of , the state may restrict peaceful
assembly without arms under certain situations such as in the interest of public order.

A3 YBR
A.Right to Freedom

B.geATHS U HRUAN SUBR
B.Right to Constitutional Remedies

C. RNl favg HfIBR
C.Right against Exploitation

D . J9MaaT 3fUPR
D.Right to Equality
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Answer: AW YR
A.Right to Freedom

19 YRArAT GAuHTe 98 Ud SUSH  gRI g¥didRdd HRugrd 3Te.

The original copy of the Constitution of India was handwritten in English by

AS IR, eSHT
A.B R Ambedkar

B.UH S8R ARMIUI ITSTE]

B.Prem Behari Narain Raizada

C.FHdl dehexrd

C.Kala Venkatarao

D JUGTY §H

D.Upendranath Barman

Answer:  B.UH 9gRI AR IS
B.Prem Behari Narain Raizada

20 44 =471 1/8 + 50 =41 60% <41 200% + 0.30 * 180 =

What is 1/8 of 44 + 200% of 60% of 50 + 0.30 * 180 ?

A121
A121

B.121.5
B.121.5

C.118.75
C.118.75

D.119.5
D.119.5

Answer: D.119.5
D.119.5

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

21 HRAR YeTe P Fasue Sgad 31ed. (20 Td 2018 Ta)

is the current chief election commissioner of India (as of 20 April 2018)

A.Ud.TY. dgll
A.H.S. Brahma

B. T
B.Nasim Zaidi

C.3MAd $UR Al
C.Achal Kumar jyoti

D.31H YT Iad
D.Om Prakash Rawat

Answer:  D.30H YT Iad
D.Om Prakash Rawat

22 igwwwﬁaﬂw,wrgwﬁawmﬁﬁ%gwﬁm (%0

According to the 2011 census, Hinduism was the principal religion in the state of
Maharashtra __ percent of the total population.

A72.7

A72.7

B.75.4

B.75.4

C.79.8

C.79.8
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D.82.3

D.82.3

Answer: C.79.8

C.79.8

23 SR @ 3§ "HRTHR' 31T § 318 TOMHR, R WIeid Yaraiied! ga=a1 shHidb e vard deH
DI 3HTR?

If @ = 'Divide' and $ = 'Multiply', then which is the 2nd smallest among the options?

A.39@5
A.39@5

B.3.5$2.5
B.3.5$2.5

C.31@4
C.31@4

D.2.75%2.5
D.2.75%$2.5

Answer: C.31@4
C31@4

24 WUUYYY ... § STUITRTd SUTdR B
How do you write 5.55555... as a fraction?
A.1o/RQ
A.50/11

B.23R3
B.11/23
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C.¥0/%¢
C.40/18

D.R00/3¢
D.100/18

Answer: D.Q00/q¢
D.100/18

25 42 T 1/12 + 44 =4[ 25% <41 200% + 0.40 * 140 =

What is 1/12 of 42 + 200% of 25% of 44 + 0.40 * 140 ?

A.83
A.83

B.81.5
B.81.5

C.83.5
C.83.5

D.80.75
D.80.75

Answer: B.81.5
B.81.5

26 EERINC G

Mirza Galib was a famous

ATESH
A.author

B.&hdl
B.poet

C.IMgh
C.singer
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D. @

D.philosopher

Answer: B.dl
B.poet

27 HE- Yo GURUITST il daaiid! RIGRY HUARIST 1.9 6 9 TR YA 3fgard DIt
feet?

Which one of the following committees set up to recommend changes to improve center-
state relationship gave its report in 19697?

AGISHR it

A.Dandekar Committee

B. IR JHURUM ST

B.Administrative Reforms Commission

C.HTqa! It

C.Bhagwati Committee

D.HeTa-Io it

D.Mahalanobis Committee

Answer: B.URINHIT YR TN

B.Administrative Reforms Commission

28 Tt Hrferent ol o,
A A B AB,CAB,

Fill in the blank and complete the series: A, A, B, A,B,C,A, B,

AC
AC

B.A
B.A

CB
CB
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D.D
D.D

Answer: A.C

AC

29

Answer:

30

YRATAIA b SUTiedl Alcid? B0 ol 3Me?

P, Ao sfordst Y 3fTgd.

Kullu, Solan and Mandi are located in

AUSTd
A.Punjab

B.feHT=a Uewr

B.Himachal Pradesh

C.JRIE8
C.Uttarakhand

D.3TR e

D.Uttar Pradesh

B.feHrd uew

B.Himachal Pradesh

Whose signature is found on one rupee notes in India?

A HRAT iz

A.Finance Minister of India

B.<Ifq, 31 HATer™
B.Secretary, Ministry of Finance

CITBR, RSN
C.Governor, RBI

D.HRdT Pt

D.President of India
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Answer: B.<ifa, 31 HaATerd
B.Secretary, Ministry of Finance

31 HRATIIA Faid A3 WRATT &3 9 (20 T 2018 Wid) I6R Higaar Siedid
3Te.

The largest private sector bank in India (as on 20th April 2018) in terms of market
capitalizationis

A TISIUHA §b

A.HDFC Bank

B. T3 db
B.ICICI Bank

C.3ffRg 9
C.Axis bank

D.BIURTH db

D.Corporation Bank

Answer: A.@@TEW §b

A.HDFC Bank

32 WTelte dARITT=AT RN Ied] hHT iU &:
1] foga Yors
2]h T

3]

DT (5P
4] 3Bt

5] =g fowm

Arrange the following technologies in ascending order of date of invention?
1] Vinyl Record

2] Cassette

3] Compact Disc

4] DVD

5] Blu-ray Disc
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A.21435
A.21435

B.12345
B.12345

C.43125
C.43125

D.13254
D.13254

Answer: B.12345
B.12345

33 WA HIvTT aTelt FHa Garar HIT 3MTe?

Which of the following items is a part of the Concurrent List?

ATURE 3ifthy §ad d&
A.Post Office Savings Bank

B. YRS difamsn

B.Pilgrimages in India

C.U AT pefiat go-aT IodTd TSauit Hol

C.Removal from one State to another State of prisoners

BRALU

D. Lighthouses

Answer: C. U1 AT pefiet gH-aT AT UTSautt ol

C.Removal from one State to another State of prisoners

34 <J SEATHC SHd (TTSIaT) o e HITT 3MTg?

Who is the President of New Development Bank (NDB)?

A%, B HTHY
A.K'V Kamath
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B.XYRTH I
B.Raghuram Rajan

C.U. Ot fesH
C.P C Chidambaram

D.SI HI
D.Jack Ma

Answer: AP %)[ PHY
A.KV Kamath

35 YR AT S0 Sfadald 3 Bed 3Tg P "I Il = g qrdl uRIRydt
30T AR e U= Fada™d! dvda dRar?

Which article of the Constitution of India states that "The State shall make provision for
securing just and humane conditions of work and for maternity relief"?

A.3TEG 42

A.Article 42

B.3J=q 36

B.Article 36

C.3 %G 16

C.Article 16

D.3{J=5G 14

D.Article 14

Answer: A.&Iﬂ@?{ 42

A.Article 42

36 WTelerde! &I SaRiTar 2018 T TRl fayw REBR HesTar?

Who among the following persons was a recipient of the Padma Vibhushan Award in 20187

A 3cAldgR] arsudt

A.Atal Bihari Vajpayee
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B.S RIS
B.llaiyaraaja

C. A RifT

C.Manmohan Singh

D ST TTeS 3ThY
D.Balasaheb Thakre

Answer: B.gcldRISIT
B.llaiyaraaja

37 WTeTeTte! HIvTT STelan T Jfid THa 3He?

Which of the following items is a part of the Union List?

A SHTARTR Rl Ufdey

A.Prevention of cruelty to animals

B.faar@art

B. Bankruptcy and insolvency

c.dad
C.Forests

D% TaRaisl 30T @Y Ahe

D.Stock exchanges and futures markets

Answer: D.Xid Tardol HTIOT T HTahe

D.Stock exchanges and futures markets

38 WIeftcte! Jaid AT Tafg Hiurar 38 ?

Which of the following options is the largest?
A15+12-10-15-5-5-2-4+8-10
A15+12-10-15-5-5-2-4+8-10

B5+5+10-12+10+5-2+4-8-10
B5+5+10-12+10+5-2+4-8-10

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

C45-5+10-15-10-5-2-4+8-10
C45-5+10-15-10-5-2-4+8-10

D5+5-10-12-10+5-2-4+8-10
D5+5-10-12-10+5-2-4+8-10

Answer: C45-5+10-15-10-5-2-4+8-10

C45-5+10-15-10-5-2-4+8-10

39 Wretads! gafd AiaT 3quUlies I 318 2

Which is the largest among the following fractions?

A.100/101
A.100/101

B.50/51
B.50/51

C.24/25
C.24/25

D.200/203
D.200/203

Answer: A.100/101

40

A.100/101

T AfeTeT qut el
PRTVX

Fill in the blank and complete the series:PRTV X

AW
AW

B.U
B.U

CA
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D.Z

D.Z
Answer: D.Z
D.Z
41 TR @ 31 '+ AT § 3118 '—', TR Wiciade! Tald AIST Uafg HIurdr 3Mg?

If @ is '+'and $ is '-', then which of the following options is the largest?

AS@15@103$15@10@5@2@4$8@ 10
AS@15@103$15@10@5@2@4$8@ 10

B15@15@10$15@10$5@2@4 @8 $ 10
B15@15@10$15@103$5@2@4 @8 $ 10

C5@5%$10315@10@5@2%$4@8@ 10
C5@5%$10$15@10@5@2%4@8@ 10

DI5@5@10$15@10@5$2%4@8$ 10
DI5@5@10$15@10@5%$234@8$ 10

Answer: A5@15@10$15@10@5@2@4$8@ 10
AS@15@103$15@10@5@2@4$8@ 10

42 3.25+2.55+4.75-(3.25-6.55 + 4.75)

Whatis 3.25 + 2.55 +4.75 - (3.25-6.55 + 4.75) ?

A.8.85

A.8.85

B.9.45

B.9.45
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C.9.1

C.9.1

D.8.95

D.8.95

Answer: C.9.1

C.9.1

43 9.55+5.95 + 3.75- (9.55 - 3.95-3.75) = ___

What is 9.55 + 5.95 + 3.75 - (9.55 - 3.95 - 3.75) ?

A17.75

AAT7.75

B.17.4

B.17.4

C.17.25

C.17.25

D.17.15

D.17.15

Answer: B.17.4

B.17.4
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44 WU Fatd HIsT Uaid HIvrdr 3178 2
Which of the following options is the largest?
A5+15+10-15+10+5+2+4-8+10
A5+15+10-15+10+5+2+4-8+10
B.15+15+10-15+10-5+2+4+8-10
B.15+15+10-15+10-5+2+4+8-10
C5+5-10-15+10+5+2-4+8+10
C5+5-10-15+10+5+2-4+8+10
D.15+5+10-15+10+5-2-4+8-10
D15+5+10-15+10+5-2-4+8-10

Answer: A5+15+10-15+10+5+2+4-8+ 10
A5+15+10-15+10+5+2+4-8+10

45 PIUAT Hee HRAA U 5 HRAT HU-! -7 faewd ddaal?

Which MNC acquired Indian company |-Gate?

ATRITR

A.Accenture

B.3M§TH

B.IBM

C.FUSft

C.Capgemini

D.3R&d

D.Oracle
Answer: C.PUaf

C.Capgemini
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46

Answer:

47

Fe-Ioy Feyifawit @relidte! S faur srrg 3mg?

Which of the following statements is false with respect to center-state relationship?

A SR IS YA Seied] aeg=T dadid i1 fafRTIeR ¢uard e s ast [y
ORI &g TRHR T JTelaR HIIG B Kabl.

A.Though states have exclusive powers to legislate with regards to items on the State list,
in specific situations the central government can legislate on these items.

B. ot a1y uRfRUGine, Tadd Ied Yid TG deaiedl f[Avdiaild dads! 813 Qdhdrd,
SATTST TN /3 TgHAM 314 UTRd HR1al ARTA! off AP fgarded a1 ey g
HITE BHIC 3R,

B.in certain circumstances, the parliament can also make laws on subjects mentioned in the
State list, then the Rajya Sabha has to pass a resolution with 2/3rd majority that it is
expedient to legislate on this state list in the national interest.

C TR g URATT AfGUTr=ar Gayd WRe-d1 U YT 315, STl guid dic = A
THRRG J9e= gedm Uad! Siaiid FauTe GURUN 3fdid sed fdvar I3 &al 3d el
C.Federalism is part of the basic structure of the Indian constitution which cannot be altered
or destroyed through constitutional amendments under the constituent powers of the
Parliament without undergoing judicial review by the Supreme Court.

D.UMEH 1T ITeiHed, Hg TRBR Iod RBRAT HaUTHdh fUBR / il AThRe Udhd.

D.In administrative matters, the Central government can overrule the constitutional
rights/powers of a state governments.

D.URTBY JTeiHed, g IRDR ol IRBRAT AT YD R / Yadi=T AThRe b,

D.In administrative matters, the Central government can overrule the constitutional
rights/powers of a state governments.

SR @ 318 "HITHR' 10T $ 38 UMHR, R WIed Gardued! ga=a1 sl 9did agH
DI 37?2

If @ = 'Divide' and $ = 'Multiply', then which is the 2nd smallest among the options?

A.33@5
A.33@5

B.2$4.25
B.2$4.25

C.22@3
C.22@3
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D.3$3
D.3$3

Answer: C.22@3
C.22@3

48 T BT S T 20% 3T, FIT & §T 3f =T % 3G,

Ais 10% of B. Then B is % of A.

ARo
A.10

B.Ro
B.90

C.%000
C.1000

D.Roo
D.900

Answer: C.%000
C.1000

49 T BT ot §9 20% it AT 3R, T &t 81T gH % WT 36,

A'is higher than B by 10%. Then B is lower than A by %.

Ao
A.10

B.Ro
B.90

CR.oR
C.9.09

D.R
D.9
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Answer: C.R.0%
C.9.09

50 TAH T R dhalelt Toh SR aTgqe Yl Hu-t g

is a space transport services company founded by Elon Musk.

AT TR
A.SpaceX

B.$H U3R
B.Dragon Air

C.& Hs
C.Blue Origin

D 3%
D.Tesla

Answer: AT Ty
A.SpaceX

51 20/25+0.5-5/40="7

What is 20/25 + 0.5 - 5/40 ?

A1.175
A1.175

B.0.975
B.0.975

C.1.425
C.1.425

D.1.45
D.1.45

Answer: A.1.175
A.1.175

http://www.adda247.com/mr | Adda247mtApp | https://t.me/Adda247Marathi


Dell
Line

https://www.adda247.com/?_branch_match_id=1063345501081485536&utm_source=blog_marathi&utm_campaign=app_dl&utm_medium=branch&_branch_referrer=H4sIAAAAAAAAA8soKSkottLXT0xJSTQyMddLLCjQy8nMy9YP8k0xNKyqrAwtSAIAgC9SkCQAAAA=

52 HIAaed TR 2018 A T3Y WIERd 65 fhaiaR $il gaviued ool fSidwa?

Who won the gold at Men's freestyle wrestling 65 kg event at Commonwealth Games
20187

ARTd $AR

A.Sushil Kumar

B. <o g

B.Bajrang Punia

C.Igcl WliTeh
C.Rahul Aware

D.IHIR wIfgaT

D.Somveer Kadian

Answer: B. SR g
B.Bajrang Punia

53 T SYuidhie ARl HHidbH AUl B,
[1]-1/2
[2] - 5/6
[3] - 3/4
[4] - 7/8

Arrange the following fractions in descending order
[1]-1/2
[2] - 5/6
[3]-3/4
[41-7/8

A4,2,3,1
A4,23,1

B.1,3,4,2
B.1,3,4,2

C4,21,3
C4,213
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D.1,3,2,4
D.1,3,2,4

Answer: D.1,3,2,4
D.1,3,24

54 R @ 318 "HITIGR' T $ 318 T[ONHR', R W] Faid HIsT Uaid HIordT 3Tg?

If @ = 'Divide' and $ = 'Multiply', then which is the largest among the options?

A.33@5
A.33@5

B.4.5%4.5
B.4.5%4.5

C.31@4
C.31@4

D.3%$4.5
D.3%4.5

Answer: B.4.5%$4.5
B.4.5%4.5

55 Gie=T Q@RI el QRIS $UTdR SHRUTTS! WTelerieh! PIuIeT fahRUTa aToR dhel Sl 2

White topaz is converted to blue topaz in gemstone industry by which one of the following
rays?

A SRS T

A. Infrared rays

B.diteT faun
B.Beta rays

C.7TH1 fur

C. Gamma rays

D. st fap=or 3T AT favur gigt
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Answer: C.TTHT favur
C. Gamma rays

56 SR @ 38 "HRTIHR' 31T § 318 TUMHR', R WIeiadd! gaid HiaT gafg HIvrdr smg?

If @ = 'Divide' and $ = 'Multiply', then which is the largest among the options?

A17@5
A17@5

B.2$3.5
B.2$3.5

C.19@3
C.19@3

D.3$3
D.3$3

Answer: D.3%$3
D.3%$3

57 g SR 2018 HL PV R AT 36 T AP Wesid NS HIUATA 3Ted Blel?

In which Indian state will the 36th National Games held in November 20187?

A TERTE

A.Maharashtra

B.gfammn

B.Haryana

C.UfgH e
C.West Bengal

D701
D.Goa

Answer: D.‘ilal
D_Goa
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58 HHARAS Td AN BIR SHIH! UIeid T HI0 gld?

Who is the head of the National League for Democracy party of Myanmar?

A3 I g Bt
A.Aung San Suu Kyi

B.2f farfuT

B.Xi Jinping

AL ESIREIC]
C.Shinzo Abe

D.8I 9t firg

D.Ho Chi Min

Answer: A3 IH g Gl
A.Aung San Suu Kyi

59 ORI UG 3.

Zakhir Hussain is famous for

A IR diGeh
A.Sarangi

B.dddl digdh
B.tabla

C.FR-IE diqh
C.Sarod

D.IdR diqdh
D.Sitar

Answer: B.dddl digh
B.tabla
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60 it archt ufig 3ed

Imtiaz Ali is a famous

A faresie

A.Director

B.aqTA®

B.Scientist

C ISR

C.Politician

RCIREE]

D.Actress

Answer: Aﬁ"m

A.Director

61 ufgal siaferm™ sgfuex fARmare! gid.

was the first solar powered spacecraft on a mission to Jupiter?

A. ST

A.Juno

B.dcloR
B.Challenger

CI&R

C.Rover

D.®GIUoR

D.Voyager

Answer: A. @Fﬁ
A.Juno
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62 3T oft ufig 3{Ted

Ang Lee is afamous

A fae=ie

A.Director

B.UDTg

B.Sportsman

C.hdlhRR
C.Artist

D.Tgh
D.Singer

Answer: Aﬁ"m

A.Director

63 SR e IR Bid

Joseph Stalin was a famous

A feesie

A.Director

B.oST®

B.Scientist

C ISR

C.Politician

D%
D.Singer

Answer: C IS RUM

C.Politician
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64 YR ANTRG T fesTeied Jayd STIGRe SgHid Teiaud! HIvd fauT T 3g?
Q) 3RYRIT T Ul g1 8T 3Tg 30T 1=t aciue Hae ey 38,
&) YRATIE ARG GRCRN IsaTid Ugal/a-g Wb Jdhd ATald.

Which of the following is true with respect to Fundamental Rights enjoyed by citizens of
India?

A) Practice of untouchability is an offence and anyone doing so is punishable by law.

B) Citizens of India cannot accept titles from a foreign State.

A HdD
A.A only

B.Whad ot
B.B only

C.T 30T &t I
C.both Aand B

D¢ far &t ATl
D.neither A nor B

Answer: CU 31O &t 3I%‘|
C.both A and B

65 8+55+12+6.25-(3.5+10-25+4)

Whatis8+55+12+6.25-(3.5+10-25+4)7

A.16.75

A.16.75

B.16.6

B.16.6

C.16.5

C.16.5
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D.17.1

D.17.1
Answer; A.16.75
A.16.75
66 YRATAIA DIUTAT AT 2017 D SISl aid AI3T JT6T IR bal gidl?

Which state in India produced the largest amount of bauxite in 20177

AT
A.Odisha

B.TraT

B.Goa

C ISR
C.Rajasthan

D.3RTS
D.Jharkhand

Answer: A3
A.Odisha
67 SR YT IV HewdqU! UIYHHEes e faeret faaard aruR HRdrd?

Use of tungsten in bulb is due to which one of the following important property ?

A3 %aulidh
A.High melting point of tungsten

B.3= dlgchdl

B.High conductance of tungsten
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C.3d d-ddil
C.High ductility of tungsten

D.ad Id
D.All of the above

Answer: A3 AUl
A.High melting point of tungsten

68 Hald S Tp AT S ASITHE HERIY _ d I 3.

Maharashtra rank in the India amongst states with highest population is

A1
A1

B.2
B.2

C3
C.3

D.4
D.4

Answer: B.2
B.2

69 ST IR I 3Ted? (20 T, 2018 3sh)

Who is the current German Chancellor? (as on 20 April, 2018)

INEECIRECT
A.Angela Merkel

B.Sf@e HERH

B.David Cameron

C.3aHc ®Id

C.Helmut Konhl
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Answer:

70

Answer:

71

DRUGEICSET

D.Elizabeth I

A.3foIaT Bdd
A.Angela Merkel

SR x > 10 3T x < 20, TR e Faid A YUl DI 3g ?

If x > 10 and x < 20, then which of the following fractions is the least?

A.2x/120
A.2x/120

B.2x/130
B.2x/130

C.0.5x/125
C.0.5x/125

D.x/25
D.x/25

C.0.5x/125
C.0.5x/125

YR gaid HIS drel gTuf TRI6aR

is the largest fresh water lake in India

AR
A.wular

B.dldhch
B.loktak

C.HdR
C.Sambar

D.sld

D.dal
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Answer: B.dlhch
B.loktak

72 Wretadd! gafd AT gl B0 38 2

Which of the following fractions is the largest?

A.20/21
A.20/21

B.15/21
B.15/21

C.15/25
C.15/25

D.16/20
D.16/20

Answer: A.20/21
A.20/21

73 T Taaiie! g1 hHiG T Faid HIST HI0T 3?2

Which is the 2nd largest from among the given options?

A. 350 @ 20%
A.20% of 350

B.1100 T 1/4
B.1/4 of 1100

C.0.35* 900
C.0.35* 900

D.1400 dT 2/5
D.2/5 of 1400

Answer: C.0.35*900
C.0.35*900
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74 Ufd HeRGTHaRe HTTd 3ie - AHTSITal TR&0T SUarTat Higwig Sl 3M1fdr qdhd areft
i AJaRaTell YR R Ie5aes (1919 -1920) et T Fobdcdld A1d BId.

Name the movement (1919-1920) which was led by Muhammad Ali and Shaukat Ali and

was a movement of Indian Muslims to protect the Ottoman Empire during the aftermath of
World War I.

A.dTdd dJoddcd
A.The Bagawat Movement

B.fedwd g5
B.The Khilafat Movement

C. g Y IB5IS
C.Separate Nation Movement

D. Rl

D.Quranism

Answer: B.RIAThd T5d
B.The Khilafat Movement

75 T=cd § UG A @@ .

The name Gurudev was famously referred to___

AXATETY TR

A.Rabindranath Tagore

B.ARIU 1]
B.Narayan Guru

C PV RHH
C.Ramakrishna Parmahansa

D. ST T AYUTH U
D.Dr S Radhakrishnan

Answer: A.qél'aam EI‘iIQ

A.Rabindranath Tagore
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76 15 1 1/6 + 25 <A1 30% <HT1200% + 0.30 * 120 =

What is 1/6 of 15 + 200% of 30% of 25 + 0.30 * 120 ?

A.55
A.55

B.55.5
B.55.5

C.52.75
C.52.75

D.53.5
D.53.5

D.53.5
D.53.5

Answer:

77

Answer:

o Tl uRrg 3fTgd

Larry Ellison is a famous

A Tt

A.Businessman

B.HIg

B.Sportsman
C ISIhRUf

C.Politician
DRIIREA
D.Singer

A gt

A.Businessman
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78

Answer:

79

Answer:

YRATHT ISTUC-T HIUAT Sasard Uil ST SiaTHHR TR ST Ardei-e 3R
JURUITTST o8 HIRIATT Sietel STdl?

Which article of the Constitution of India speaks about the Duty of the State to raise the
level of nutrition and the standard of living and to improve public health?

A3 TG 47

A.Article 47

B.3Mw9G 12

B.Article 12

C.3fJ=9G 33

C.Article 33

D.3{J=%G 18

D.Article 18

A5G 47

A.Article 47

1.1+ 222 + 3.333 + 4.4444 + 5.55555 =

What is the value of 1.1 + 2.22 + 3.333 + 4.4444 + 5.55555

A7
A7

B.16.65295
B.16.65295

C.15.12345
C.15.12345

D.16
D.16

B.16.65295
B.16.65295
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80 WIeitete! Jatd HisT yafg Siur Mg 2

Which of the following options is the largest?

A25-525+775+325-45+275-35+85
A25-525+775+325-45+275-35+85

B.5.5-575-425+3.75+45+275+3.5-85
B.5.5-575-425+3.75+45+275+3.5-85

Cb52+525-775+475+35+275+25+55
Cb52+525-775+475+35+275+25+55

D55+525+275+325+45+275-35+8.5
D55+525+275+325+45+275-35+85

Answer: D55+525+275+325+45+275-35+85
D.55+525+275+325+45+275-35+85

81 RIS T Iod WBR R fAGRIETEd Fiefia sfied Said a8 gqarTerdid 99 Jail
e FR1&01 flres e gl =Rmeyelt 3.

The Right to Education makes it binding on the part of the local and State governments to
ensure that all children in the age group get schooling.

A3d10
A.3-10

B.4d 12
B.4-12

Cc6d14
C6-14

D5d15
D.5-15

Answer: C.6 ?[ 14
Cb6-14
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82 oI 3701 ool Hah e RITIT BT 8T U T HTT 3T8.

Establishment of standards of weight and measure is a part of

NGRS Cll

A.Union List

B .S gt

B.State List

C.Had It

C.Concurrent List

D. ARy it

D.Residuary List

Answer: A gt

A.Union List

83 1948 d 1947 TUd YU (1946 d 1947), TR HRIF HIGUTH FHT AFTHE 0T IR
ABIHT TYH FHTI!.

was the President (from 1946 to 1947) of the Central Legislative Assembly, then
Speaker of the Constituent Assembly of India, and later the first Speaker of the Lok Sabha.

ATTUIRT g cd HIGBUIhR
A.Ganesh Vasudev Mavalankar

B.&HRUTS ATTHTS
B.Kasturbhai Lalbhai

C.3qdrd gxiifdg

C.Amritlal Hargovindas

D . IR TIHYTS Ucd
D.Sardar Vallabhbhai Patel

Answer: AU drgcd HTTE UM

A.Ganesh Vasudev Mavalankar
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84

Answer:

85

ARGS! g UToamae] §8d URg STeTel deid TR HRUT B2

What is the reason behind sinking of iron needle and floating of a ship?

A AREST S CIhaR 3R ok SIgTSEl e 9uTe 3l

A.The needle is pointed while the ship’s bottom is flat.

B.[&d fafRI¥ ToaI® YUl § Uroare YRS HH 3d o STeleid fafRy Teaismyu §
YTogTAT UfARUTOET SR 3¥7d

B.Specific gravity of needle is less than that of water displaced, while that of ship is more
than that of water displaced.

C. g Ry To@eyur § UTugra UiaRurde SRd S$Rd oR SigTeiTd ARy Toaremyur
TTogTAT faaROMUET HHT 3.

C.Specific gravity of needle is more than that of water displaced, while that of ship is less
than that of water displaced.

D.STeTSd TRaIdbyUl &g & W faRidid Yoo oarbyUieT 3ifeid 3.

D.Center of gravity of a ship is higher than that of a standing needle.

C.g=d fAfRT AT & UTugrea UiAHRUTUET SR S oR SigTeird fafRiy ey
UTUgTA] YiRRUUET HHT 3.

C.Specific gravity of needle is more than that of water displaced, while that of ship is less
than that of water displaced.

TITCS I R (TSIdCIeT) Sid |eierid! B 9 Mg ?
3f) APt ASTAC HIVATe! dedt APYci A UG, Lebdld,
) APYCH ISTTC Ig HRUARITS] FHGAT HI=l STaFehl el

Which of the following is true with respect to President's rule in a state?
A) President's rule can be revoked anytime by the President
B) Revoking of President's rule does not need Parliament's approval.

A.$Hdc T
A.A only

B.Bad &I
B.B only

C.T 31T &t SIgY
C.both Aand B

D.T fdar ot ATl

n
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Answer:

86

Answer:

87

Answer:

C.T 3ifor off g
C.both Aand B

36 =T 1/8 + 50 U1 60% + 0.25 * 150 =

What is 1/8 of 36 + 60% of 50 + 0.25 * 150 ?

A72
AT72

B.73.5
B.73.5

C.74
C.74

D.71.25
D.71.25

A.72
AT72

Qe Jafd HisT Uafg HIurdr 318 2

Which of the following options is the largest?

A.257110% - 200 =T 15% - 300 =41 30%
A.10% of 25 - 15% of 200 - 30% of 300

B.25 =T 30% + 200 =T 25% + 300 <A1 5%
B.30% of 25 + 25% of 200 + 5% of 300

C.100 =T 10% + 150 =T 15% + 250 =UI 30%
C.10% of 100 + 15% of 150 + 30% of 250

D.100 =41 10% + 150 =T 25% + 250 =T 5%
D.20% of 100 + 25% of 150 + 5% of 250

C.100 =41 10% + 150 =41 15% + 250 =41 30%
C10% of 100 + 15% of 150 + 30% of 250
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88 gaTdT Yob e TTald ‘garam & Wearar 3ief 3Te.

The word “Hawala” in the ‘Hawala racket’ refers to

Adad gt

A.Guarantee of pay

B.URC-3¢S ddhgR 08 HRUIR Ugd

B. System of payment by post-dated cheques

C. U= BT RIar U §¥diaRul

C.Money transfer without money movement

D. 3{Tfep TaERIATS Proi VAT ATUR

D. Use of black money for financial transactions

Answer: c.uxr= E’I?ﬁfﬁﬂﬁf?ﬂq SRS SRR

C.Money transfer without money movement

89 AR fYd Gioed3R Hu, 3h T Gear Hesil HI0T 3ied? (WU 2018 Tda)

Who is the current CEO of Bangalore based software company, Infosys? (As on April 2018)

A AR It
A.Narayana Murthy

B.fawnd Rt
B.Vishal Sikka
C g et
C.Nandan Nilekani

D.gdld R
D.Salil Parekh

Answer: D.gdd URE
D.Salil Parekh
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90

Answer:

91

Answer:

G o U] ST oo/~ JIT fohHciian fdehdl, TTclicd Ueb a¥q fadahd =T 0% dleTl d guRT a%q

A% ]I
A.1% profit

B.4% drel
B.5% loss

C.PIUIE! T, JHaH ATgt

C.No profit, no loss

D.3% dlel
D.1% loss

D.3% dlel
D.1% loss

Q00 T BT 0% T 30% bt BIdTd ?

What is 20% of 20% of 2007

A.¢00 T 0% AT W%
A.10% of 5% of 800

B.{0oo = 0% =T 0%
B.10% of 10% of 800

C.co0o T W% T UW%
C.5% of 5% of 800

D.¥oo T 0% T ¥0%
D.10% of 40% of 400

B.{oo = 0% =T 0%
B.10% of 10% of 800

fAH TR 0% HT TN, Glve! AR TH U ] 3HYdT drel fdbdt Hel?

Two items are sold at Rs. 100 each, one at a loss of 10% and another at a profit of 10%.
What is the overall profit or loss?
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92 RIS SHTofteTOR HTBT, g1 5@ MMUIeg Fdifad g,

During a national emergency, the rights under are automatically suspended.

A TTa AHYBR
A.Right to Freedom

B.RNYUNfa%g fUHR

B.Right Against Exploitation

C.YERaTHTT DR
C.Right to freedom of Religion

D.geATdHS 3UTT HRUTM SUHR
D.Right to Constitutional Remedies

Answer: A3 YBR
A.Right to Freedom

93 PHIUTAT SATGATd! HRATHYA Faid drat fafd gid 2

Which product category is India's largest export?

A.LT. (ATt ) ST HitcdsR
A.l.T. and Software

B.3{ye

B.Pharmaceuticals

C.3{AUTT
C.Food grains

D.Xd 3107 STYWU! (SAT)

D.Gems and Jewellery

Answer: D.Xd 307 STYYU! (S

D.Gems and Jewellery
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94 TG AT "RTeT IRRTAT aoi=TedT U favelt ead | Uroft 3R

Approximately what percentage of the adult human male weight is water?

A.0.6
A.0.6

B.0.25
B.0.25

C.0.45
C.045

D.0.8
D.0.8

Answer: A.0.6
A.0.6

95 MehHE TREA R R 3P § $W, 2014 TRIHR DI foidher?

Who won the Asian Tours' Player of the year, 2017 Award in golf?

A.Siq forer R
A.Jeev Milkha Singh

CRICERIG]

B.Gavin Green

c.gnr i

C.Haug C

D=0 WM

D.Rashid Khan

Answer: B.Afa7 I

B.Gavin Green
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96 80 <[ 25% - 8/20 + 2.5 =

25% of 80-8/20+25=__

A.22.6
A22.6

B.21.85
B.21.85

C.22.5
C.22.5

D.22.1
D.22.1

Answer: D.22.1
D.221

97 T 31 HRUT=] fagH Yredr  Ieurdid.

Branch of science which deals with study of colorsis

A FrIcIarstt
A. Cytology

B.3IcIalGll
B.Otology

C.piHca

C. Chromatics

D.3{loed

D. Optics

Answer: C.shHfeay

C. Chromatics
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98 a1 I Sfaemrdie fobdl TIET TR dhedl gidT?

How many drafts of the Constitution were prepared by the Drafting Committee?

A
A
B.2
B.2
C.3
C.3
D.4
D.4
Answer: C.3
C.3
99 520+ 1.5-5/25="7
What is 5/20 + 1.5-5/25 ?
A.2.975
A.2.975
B.1.55
B.1.55
C.1.45
C.1.45
D.2.7
D.2.7
Answer: B.1.55
B.1.55
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100 WIeitete! Jatd HisT yafg Siur Mg 2

Which of the following options is the largest?

A25-525+775+325-45+275-35+85
A25-525+775+325-45+275-35+85

B.5.5-575-425+3.75+45+275+3.5-85
B.5.5-575-425+3.75+45+275+3.5-85

Cb52+525-775+475+35+275+25+55
Cb52+525-775+475+35+275+25+55

D55+525+275+325+45+275-35+8.5
D55+525+275+325+45+275-35+85

Answer: D55+525+275+325+45+275-35+85
D.55+525+275+325+45+275-35+85
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